Isomers WS

1.How many structural isomers of heptane exist? 

A) 2 

B) 4 

C) 6 

D) 8 

E) 9 

Answer:  E 

2. How many structural isomers of heptane exist? 

A) 2 

B) 4 

C) 6 

D) 8 

E) 9 

Answer:  E 

3. How many structural isomers (include all types except optical) can be drawn for 
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CH

? 

A) 5 

B) 6 

C) 7 

D) 11 

E) 12 

Answer:  D 

4. Which one of the following molecules is chiral?

A) 
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B) 
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C) 
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D) 
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E) 
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Answer:  D 

5. What types of isomerism are possible among the molecules that can be obtained by substituting a chlorine atom and a bromine atom for two of the hydrogen atoms in each of the following?

(a)
Ethane, C2H6
(b)
Ethene, C2H4
Show structures to illustrate each of the types of isomerism you name for each of these compounds.

Answer:

(a)
positional (structural) isomers
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optical isomer:
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(b)
positional (structural) isormers
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cis - trans isomers
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